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Third Semester B.E. Degree Exa$ffS,ffition, Jan./Feb. 2021

Network Theory
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Note: Answer any FIVE full questions,&*oosizg ONE fuU question f#om each module.
-

*:$a - ""b
J%;Mpdule-l tus\a. Using source transformation,@dpJurce shifting techniques, find voltage across 2Q resistor

as shown in Fig.Q.l(a). .u, if' ..,q (07 Marks)
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b. Find V* using nodal anqryl$i$,'for the network shown in Fig.Q.2(b).
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(07 Marks)c. Determine Vs using mesh analysis for the network

Fig.Q.2(c)
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m power is delivered. Also find the maximum power
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Fig.Q.5(a)
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